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& 35,082 35,082 0
o 81,857 81,857 0
101 @124 4| 183,168 211,600 A28,432
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M OINZZ2XNSES 38,400 0 38,400
03348 I| 12|
2,400,000 x2S 82 38,400 0 38,400
201 LerEd| 8,000 8,000
01 Ar2teltl 8,000 8,000
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401 Al HI L LY 30,000 30,000
01 AlZH] 30,000 30,000
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ik 1,820 1,400 420
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01 Al&H 15,000 15,000
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401 Al HI L= T 500,000 500,000 0
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2 26,880 0 26,880
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2 26,880 0 26,880
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= 100,000 0 100,000
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= 45,000 0 45,000
i 105,000 0 105,000
01 At 22|l 150,000 0 150,000
02023 ZAANAHMHA AT 22 K&
150,000,000 * 14 150,000 0 150,000
= 45,000 0 45,000
= 105,000 0 105,000
HE2HEH (A=) 198,518 176,308 22,210
ol HH| (A =X|Dt) 128,866 106,656 22,210
ol AHH| (AR =X|Dt) 128,866 106,656 22,210
101 2124d| 128,866 106,656 22,210
01 25 82,798 73,598 9,200
OAIZI2l 224
ZE 10,9523 x 14 45 A| 2t 12E 82,798 73,598 9,200
03 SR (RIAHAL)ZEXNE S 46,068 33,058 13,010
Osde Aldae|&d 9,654 0 9,654
Os22R=E
99,0033 *50%* 1E *105 5,198 0 5,198
OFYd2R+H(HAUMI)
99,0032 *150%* 15 +30 4,4%6 0 4,4%

-300-




o
3
oF
[uy]

= 80 80
Hr O ok
w0 RO Rl
< %0 3l
X &l oF
Dk RO T

3,3%

no
KIo
E|
=)
(e}
al
K0
m
8
(ep)
-
m._.
<
r=)
80
™
ey
olr -
X0 ~J
=TI
° x
<
I+ <
B L
= ¢
=
8 I
o |&
ol | =
: Rr
R o
RO |0
o ©
T
I+

-301-





